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The above graph shows / the percentage of students / from kindergarten to 12th grade / 

위 그래프는 보여 준다 / 학생들의 비율을 / 유치원에서 12학년까지의 /

who used devices / to access digital educational content / in 2016 and in 2019. 

기기를 사용했던 / 교육용 디지털 콘텐츠에 접근하기 위해 / 2016년과 2019년에 

Laptops were the most used device / for students to access digital content / in both years. 

노트북은 가장 많이 사용한 기기였다 / 학생들이 디지털 콘텐츠에 접근하기 위해 / 두 해 모두 

Both in 2016 and in 2019, / more than 6 out of 10 students / used tablets.

2016년과 2019년 모두 / 10명 중 6명이 넘는 학생들이 / 태블릿을 사용했다 

More than half the students / used desktops / to access digital content / in 2016. 

절반보다 많은 학생들이 / 데스크톱을 사용했다 / 디지털 콘텐츠에 접근하기 위해 / 2016년에 

The percentage of smartphones in 2016 / was the same / as that in 2019. 

2016년의 스마트폰의 비율은 / 같았다 / 2019년의 그것과 

E-readers ranked the lowest / in both years, / with 11 percent in 2016 / and 5 percent in 2019. 

전자책 단말기는 가장 낮은 순위를 차지했다 / 두 해 모두 / 2016년에 11퍼센트로 / 그리고 2019년에 5퍼센트로 

기출로 확인하기  

*끊어 읽기 한 표시를 따라 문장 구조에 유의하여 해석을 써보세요. 
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The graph above shows / the annual seafood consumption per person / in six countries / in 2020. 

위 그래프는 보여 준다 / 1인당 연간 해산물 소비량을 / 6개 나라의 / 2020년에 

The annual seafood consumption in Korea / was the highest, / followed by Norway. 

한국의 연간 해산물 소비량은 / 가장 높았다 / 노르웨이가 그 뒤를 이었다 

The amount of seafood / consumed in Norway / was more than twice / that of the world average.  

해산물의 양은 / 노르웨이에서 소비된 / 2배보다 더 많았다 / 세계 평균의 그것보다 

The gap between / the amounts of seafood / consumed in China and the US / was 10 kilograms. 

~간의 차이는 / 해산물 양의 / 중국과 미국에서 소비된 / 10킬로그램이었다  

The combined amount of seafood / consumed in Russia and Italy / was less / 

해산물의 합쳐진 양은 / 러시아와 이탈리아에서 소비된 / 적었다 / 

than the amount of seafood / consumed in China.  

해산물의 양보다 / 중국에서 소비된 

Among the given countries, / annual seafood consumption in Italy / ranked the lowest / at 18 kilograms.

주어진 국가들 중에서 / 이탈리아의 연간 해산물 소비량이 / 가장 낮은 순위를 차지했다 / 18킬로그램으로 

적용 Practice 1번 

*끊어 읽기 한 표시를 따라 문장 구조에 유의하여 해석을 써보세요. 
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The above graph shows / the hobbies of Korean adults / aged 20 to 30 / in 2010 and 2020.  

위 그래프는 보여 준다 / 한국인 성인들의 취미를 / 20세에서 30세인 / 2010년과 2020년에 

Watching TV / was the most popular hobby / in 2010, / at 62 percent. 

TV를 보는 것은 / 가장 인기 있는 취미였다 / 2010년에 / 62퍼센트로 

In 2020, / more than 7 out of 10 respondents / enjoyed hiking, / which was the highest / 

2020년에 / 10명 중 7명보다 많은 응답자들이 / 등산을 즐겼다 / 이것은 가장 높았다 / 

among the five hobbies.  

다섯 개 취미 중에서 

The percentage of respondents / who liked playing computer games / and reading / 

응답자들의 비율은 / 컴퓨터 게임하는 것을 좋아하는 / 그리고 독서하는 것을 / 

increased from 2010 to 2020. 

2010년부터 2020년까지 증가했다 

More than a third of the respondents / read as a hobby / both in 2010 and in 2020. 

3분의 1보다 많은 응답자들이 / 취미로 독서를 했다 / 2010년과 2020년 둘 다에 

The percentage of respondents / who enjoyed cooking / increased by more than 10 percentage point/  

응답자들의 비율은 / 요리를 즐기는 / 10퍼센트포인트보다 더 증가했다 / 

between 2010 and 2020. 

2010년과 2020년 사이에 

적용 Practice 2번  

*끊어 읽기 한 표시를 따라 문장 구조에 유의하여 해석을 써보세요. 



<<해커스 첫수능 영어 기초독해>> 직독직해 Worksheet_정답_독해 원리 7

The above table shows / the number of animals / in Maple Bend National Park / in 2010 and 2015. 

위 표는 보여 준다 / 동물들의 수를 / 메이플 벤드 국립 공원에 있는 / 2010년과 2015년의 

Coyotes had the highest population / in each year, / at 65 in 2010 / and 87 in 2015. 

코요테는 가장 많은 개체 수가 있었다 / 각 연도에 / 2010년에는 65마리 / 그리고 2015년에는 87마리로 

In 2010, / the number of pumas / was the same / as that of moose, / at 38. 

2010년에 / 퓨마의 개체 수는 / 같았다 / 무스의 그것과 / 38마리로 

The gap between / the number of pumas and black bears / was smaller in 2015 / than in 2010.  

~간의 차이는 / 퓨마와 흑곰 개체 수 / 2015년에 더 작았다 / 2010년보다 

Foxes and moose / were the only two animals / that decreased in number / from 2010 to 2015. 

여우와 무스는 / 유일한 두 동물이었다 / 개체 수가 감소한 / 2010년부터 2015년까지 

In 2010, / the combined population of black bears and moose / was more than / 

2010년에 / 흑곰과 무스의 합해진 개체 수는 / ~보다 많았다 / 

the population of coyotes. 

코요테의 개체 수

적용 Practice 3번   

*끊어 읽기 한 표시를 따라 문장 구조에 유의하여 해석을 써보세요. 
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The graph above shows / the percentage of the population / that wears glasses / 

위 그래프는 보여 준다 / 인구의 비율을 / 안경을 쓰는 / 

in six European countries.

6개의 유럽 국가들의 

Belgium shows the highest percentage / among the six countries, / followed by Denmark. 

벨기에는 가장 높은 비율을 보여 준다 / 6개 국가 중에서 / 덴마크가 그 뒤를 잇는다 

The percentage of people / who wear glasses / in Denmark / is higher / than that of Spain. 

사람들의 비율은 / 안경을 쓰는 / 덴마크에서 / 더 높다 / 스페인의 그것보다 

Half of the people in Italy / wear glasses, / which is the second lowest percentage / 

이탈리아의 사람들 절반이 / 안경을 쓴다 / 이것은 두 번째로 가장 낮은 비율이다 / 

among the six countries.  

6개 국가들 중에서 

The percentage of Croatia’s population / that wears glasses / is twice as high as / that of Greece. 

크로아티아 인구의 비율은 / 안경을 쓰는 / 두 배만큼 높다 / 그리스의 그것보다 

Less than 30 percent / of the people in Greece / wear glasses. 

30퍼센트보다 적은 / 그리스의 사람들이 / 안경을 쓴다 

적용 Practice 4번 

*끊어 읽기 한 표시를 따라 문장 구조에 유의하여 해석을 써보세요. 


